
 

UNO-HD20 Installation Guide        1 

UNO-HD20 - UNO-2000 Series HDD Extension Kit 
Installation Guide 

 
Part No: 2003200010 
1st Edition Printed in Taiwan Oct. 2002 

 

Overview 
Although UNO-2000 series is an embedded platform, there is reserve flexibility to install one 

2.5” HDD. Some customers want to install a popular operating system, like Windows 

NT/2000 or need for larger data storage capability. UNO-2000 series is also ideal platform for 

applications with HDD demand. 

 

Accessories List 
 

Description Quantity 

Hard disk mounting bracket 1 

Front/Rear Upper panel 2 

Side upper panel 2 

M3*5 Screws 4 

Copper stud 4 

M3*8 Screws 4 

44-pin IDE cable 1 

 

Installation Procedure 
 

<Step 1> Remove four screws (item 11) and the rear lower panel (item 3) of UNO-2000 

<Step 2> Slide out the top cover (item 5) of UNO-2000 

<Step 3> Install the IDE cable (item 13) on the UNO-2000 carrrier board (item 14) 

<Step 4> Slide in the side upper panels (item 4) on both left and right side 

<Step 5> Replace the rear lower panel (item 3) and tighten its four screws (item 11) 

<Step 6> Install the rear upper panel (item 2) and tighten its four screws (item 10) 

<Step 7> Remove four screws of copper studs (item 8) from the carrier board (item 14) 

<Step 8> Install four copper studs (item 9) in the mechanism. 

<Step 9> Place your 2.5” hard disk (item 12) inside the hard disk mounting bracket (item 1) 

and fix the hard disk by four screws (item 7) 

<Step10> Place the hard disk mounting bracket with hard drive (item 1 & item 12) upon the 

carrier board and tighten four screws of hard disk bracket (item 8) 

<Step11> Connect the 44-pin IDE cable with the 2.5” hard disk connector 



 

UNO-HD20 Installation Guide        2 

<Step12> Replace the top cover (item 5) 

<Step13> Install the front upper panel (item 6) and tighten its four screws 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure 1: UNO-2000 Series HDD Extension Kit Assembly Diagram 

Table 1: Assembly Diagram Item No. and Description 

Item No. Assembly Diagram Item Description 
1 Hard disk mounting bracket 
2 Rear upper panel 
3 Rear lower panel 
4 Side upper panel 
5 Top Cover 
6 Front upper panel 
7 M3*5 Screws 
8 Screws of copper stud 
9 Copper stud 

10 M3*8 Screws 
11 M3*8 Screws 
12 2.5” hard disk 
13 44-pin IDE cable 
14 UNO-2000 carrier board 

 

Pin 1 


